October 15, 2015

Addition and scalar multiplication are required to satisfy
these eight rules,

X+y=y+=x.

cx+ O+ =(x+y) +z

There is a unique “zero vector” such that x +0 = x for all x.
For each x there is a unique vector —x such that x+ (—x) = 0.
Ix =x.

(c1c2)x = c1(c2x).

c(x+y) =cx+cy.
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(c1+c2)x = c1x+ cox.

Which rule is broken if cf (x) = f(cx)? Keep the
usual addition f(x)+ g(x).

BCa+edK = exaaax
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Column Space (¢ suvbspacs D

consists of all linear combinations of t. The

combinations are all possible vectors

spaceC(A).
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Describe the column space for







